Addazis

@ Xylem is a plant tissue responsible for transporting water and dissolved minerals from the roots to

lltzllenw.-es. Certain features of xylem vessels make them particularly well-suited for this fratlon,
such as:

A. Noend walls in individual xylem clements,  B. Lignified walls
Choose the appropriate option.

(@) ‘:: nll]lo:\'s‘ c-:?ntm uous water flow, B: prevents vessels from collapsing inwards
(b) \: a“:‘v:f. w nl;:fl‘ storage, B: make vessels waterproof, preventing water loss
(c) A: allows continuous water flow, B: prevent water loss from the xylem

(d) A: allows water storage, B: allows water to move into and out of them

A U T I § A oh @ ofwt aw aeh iR U el gt & oReee &
faer gl mmﬂﬁﬁ@ﬁmmﬁﬁwmarmmhmﬂzﬂﬁmﬁ
3

A. SURRTTT SIS qadt 3 18 3ifm faw a8t O, B, RFAwEs it

39TFT AFeT 1 TUeT Y |

(a) A:ﬁiarawmgaﬁmﬁnﬁ;amg, B: anfgerrait Y 3eT &7 A TR & AFar &

(b) A T & SiSROT N IRy daw ¥, B: afREat B SRS T &, UG A FA A A ¥
() A: OREX 51 yarE & sepafer & &, B: SR ¥ TR & gifer Jenen §

(d) A: ST SiSROT Y 3ol Aar &, B: wel @ 3o 3ed N AT e B Al o §

@ Two snlids, P and Q float in water. It is observed that P floats with half of its volume immersed and Q
floats with 2/3 of its volume immersed. The ratio of densities of P and Q is

& 3 P AN Q unl & v @ ¥ uw wrr Swar ¥ B P e I3md gae F gaw W okar §
T Q HYe AT & 23 307 @A O oar € P AR Q F aecy F Ao 4T grm?
(a) 2/3 (b)4/3 (c) 3/4 (d) 3/2

3.  Find the missing term 5:150:8:?
o 9 A AT 5:150 8 1 ?

(a) 520 (b) 512 (c) 516 ~(d) 576

@ Which of the following is incorrect statement? y
(a) caecum is a small blind pouch at the junction of small and large intestine
(b) There are three pairs of salivary glands in buccal cavity

(c) Salivary amylase acts as glucose and digests it partially
(d) Pharynx connects the buccal cavity with oesophagus

Trafaf@a & ¥ S99 FYF 7T 87

(a) WA o AT @ i & SR WU B adr &9 gl &

(b) FERET # AW AR & e Y o @

(c) SR THISAST T & T F FE FRA ¥ I FH HRF T F qw@ww @
(d) T AR A A F Fhedl &

5.  The perimeter of a triangle is 42m and its sides are in ratio 13:14:15. Find the percentage increase in
the area of triangle, if its each side is doubled

Wﬁﬂﬁﬁm42mmmw13:14:15ﬂ?wﬁ§| ﬁsﬁﬁ&}maﬂ@
yfaera i HYafe P 1 9Q@F (s R & S
(a) 100 (b) 200 (c) 400 (d) 300
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6. The wet and swampy bell of the Northern region of India is locally known as
(a) Bhangar (b) Terai (¢) Doab (d) Bhabar

AR & TN BT A Ik MY ZerEdy Ty W TN wG A Ry A A SR S E
(a) MR (b) FE (c) anama (d) amarT

7. A ‘3}:':19 was sold for Rs. 4,140 with a profit of 15%. At what price could it have been sold to eamn a
profit of 25%7
(a) Rs. 4500 (b) Rs. 4800 (c) Rs. 4200 (d) Rs. 4350
UF AEfhe 15% @7 9T 4140 /- 1 adr 7 g2t 25% e FHAT ¥ v fRw fEg ) dar o
H{EAT uT?

(a) 4500 T9A/-  (b) 4800 TWA/-  (c) 4200 TA/- (d) 4350 FA/-

8. T T 1 gfef wéY Rreew I PIRIC- Fpre aey weom F R 4]

(a) TRETE () g (c) HeeTE (d) 39T

9. Which of the following is an expansion of Artificial Intelligence application?
(a) Diagnosis (b) Game Playing  (c) All given options are correct (d) Planning and
Scheduling

@ & & si7 @ nkfsRe Sftcts reiiee &1 RwR 87
(8) STTRAT  (b) AT BT (¢) Ruare @ Reew a@ & (d) At AW FHT

ferelfor

A test has 300 questions. A candidate gets 2 marks for each correct answer loses 1 mark for each
wrong answer and loses 1/2 mark for leaving the question unattempted. A student scored 330 marks.

If the student left 36 questions unattempted, find the number of questions he marked wrong.

oF e & 300 Fa RU av §1 3REaR #T geE @ 3R & W 2 JE WIS @ &, 9w
T 3T 9T 1 3 @ &aT ¥ 3 wee @) R wue BT gee W12 e @ & § ' o
& 330 3iF 9T FRU) A o o 36 W e yarw v ol R, d 3E6 @ e R

g3t T HET 94T F
(a) 120 (b) 150 (c) 204 (d) 60

mﬁﬁaﬁmﬁﬂﬁmﬁmzmﬂ?ﬁﬁﬁmﬂﬁw-mﬁiﬂm%ﬁm

g A AREERE |
(a) @Y (b) Ut (c) et (d) =T

11.

12. 3R & A A © -
(a) 3T (b) AT GEscEed (d) FAT

13. A bus maintains an average speed of 60 Km/hr while going from P to Q and maintains an average
ming back from Q to P.The average speed of bus in Km/hris __

speed of 90 Km/hr while co _
T @ P & Q $r gl 60 Rradfeier Y 3w I & @ X ¥ A Q ¥ P & gl 90 fRAE
£ it afy A a7 = § aw & i il fRefieer ¥

(a) 72 (b) 70 (c) 75 (d) 30
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44, Four numbers in the ratio 1:3:4.7

: add up 1o give a sum of 105.Find the value of biggest number.
1:3:47 % 3T & TR 3wt aw w105 4 o w8 e T A

(a) 49 (b) 42 (c) 35 ~ (d) 63

15. The average score of a cricketer for 10 matches
runs, then find the average runs for the last four matches:

wﬁ#ﬂwmﬂﬂ’imaﬁmﬁﬁraﬂ.ﬂﬁglaﬁu‘ﬁﬂﬂ‘imaﬁuﬁﬂﬁ?.mwm

is 38.9 runs. If the average for the six matches is 42

(c) 33.5 (d) 33.25

16. Whatwill be the output of the formula =ROUND(27.567,1) in Excel?
Excel # ¥ = ROUND (27.567,1) &r IMITYE 4T gam?

(a) 28 (b) 27.56 (c) 27.5 (d) 27.6

17. Nikky, who is Roland's daughter,
who is the third child of Suresh" . How is Suresh related to Irene?
(a) Grandfather (b) Father (c) Father-in-law (d) Maternal-uncle
ﬁﬁ,ﬁﬁﬂﬂyﬁaﬁﬁ.m#ﬁ?ﬁ?. 'Wﬂiﬁmﬂi‘ﬁmiﬁrmﬂ'ﬁﬂﬁﬁ@f
1 Al HA ¥ R B et ¥ = waw 2

(a) &mx (b) Rar (c) FET (d) #m&AT

says to Irene, "Your mother Rita is the younger sister of my father,

18. A water tanker filled upto 3/5 of its height is moving with a uniform speed. On sudden application of
the brake, the water in the tank would

(a) Move forward  (b) Rise Upwards (c) Move backward  (d) Be unaffected
3ﬁmmm#m§3nwﬁ:rwmnﬁfé:mnﬁmam AT B WA 9T,

¢HT &1 gr=T
(a) HwY Hr AT STEAT (b) 9 $r AT ITATT
(c) 9% Hr 30T Swen (d) ywenfa wmfw wa

19,  India’s multipurpose telecommunication satellite INSAT-2E was launched from ?
(a) Thumba (b) Baikanour {c) Sriharikota (d) Kourou
mﬁagzthﬁaqﬁmm INSAT-2E ___ & dfea frar mmar?
(a) yFaT (b) #wete (c) = gR=prer (d) Fi3®

20. Women were allowed to compete for the first time in the 1900 Olympic Games held in Paris. Which of
the following was not an event in which they competed?
(a) Tennis (b) Golf (c) Sailing (d) Swimming '
INw F 3t twnnaﬂﬁﬁmdﬁﬁnﬁﬂnﬁﬁqﬁmmuﬁwﬁwaﬁrmanﬁm
TR & ¥ st @ vt e 6w B IR afReadt & e

(a) 2 (b) eF (c) iteras (d) R
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27.

247 sy o

1 the mid -"lﬂi“[ ol the line joining {3.4) and {",?] is {N,}'] and 2X+2}"+' =(, then SR Vil
ol #7 .
A B4) M @) W P o Yar @ ARG (oy) & A 20294 =0, A gy
= gEm?

(a)17/2 (b)-15 (c) 15 (d)-17/2

“a Rt e argr e e |

(a) 7 TAT 7 30 F1o7 =1 | (b) AT FHTE |

(c) TgeT Y A1F 3 o7 e | {d}ug?rtﬂﬁmﬁr#mi

If (x +2) and (2x - 1) are factors of (2 + ax? + bx + 10), then find the value of (a® + b?),
AR (x +2) IR (2x- 1), (2 + ax? + bx + 10) & IOTerES &, A (@° + b) FT AT AT Hifdyey

(@) 74 (b) 198 (c) 289 (d) 338

Which constitutional amendment enables the State to provide reservations for socially ang
educationally backward classes in private educational institutions, and is considered a major Step

toward achieving educational inclusion?"
(a) 93rd + (b) 91st (c) 92nd (d) 90th
aﬁamwﬂmﬁm#@hﬂamaﬂﬁmﬁﬂaﬁmﬁ?ﬂmﬁmmmm#ﬁﬁm

F T IRETT werr FRe F WenT a3, I o ARE AR W F B R A oF g

FEH AT FET F?

(a) 93af (b) 91aF (c) 92at (d) 9oar

The smallest number by which 33075 must be multiplied to obtain a perfect cube is

T qOF O T FRY & T we o dear ored 33075 Y om R ae, w2 i

(a) 35 (b) 6 (c) 12 (d) 15

A piece of wire of resistance R is cut into five equal parts. These parts are then connected in parallel I

the equivalent resistance of this combination is R’, then the ratio R/R’ is

9@y R & AR & U gHs H 9T auay e 7 Fer o @1 R g et @ weeiew A
SITAT ¥ 3 g7 WalorT a7 FAGT Wfadw R ¥, & RIR' & S gwm '

(a) 1/25 (b)1/5 (c) 5 (d) 25

(a) 11 T ol et & (b) &1 Fte <l ot &2

(c) &1 g2 &t feuedl &2 (d) &1 F1R? ot foyed

T RAm G AET

(a) =T (b) =TI (c) vefler (d) T
Which one of the following literary works did not belong to the Gupta period?
(a) Charaka Sambhita (b) Abhijnashakuntalam

(c) Mrichhakatika (d) Amarakosa

Rl # & S WRRE T aor w1 Fafa @ o
(a) T Ffear  (b) ARG (c) HeowwHT (d) 3R
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qp, What does thtt idiom "break the jee"

menn?
() Start a conversation (1) End a friendshi
&l - : : ; 5 p
(¢) Shout at someone (d) Go ice skating
gy, T T ARy ereg iy -
(a) TN (L) Srorrmfor (c) aofy (ct) 2TET

32, Formal painter is

(a) To copy fﬂmmllh.\g from one object or piece of lext and then apply it elsewhere.
(b) To print pretty picture on background of slides.

(c) To paint pretty picture on your slide.
(d) To change the background colour of your slide.

g Y %
(a) PRI U ST A1 R & oS F wHiRT W aen AT AR 3 iR areené e

(b) TSt A TR W e faw o ¥ Rl
(c) ¥%8 W YR T womet & fwy

(d) T8 N TR & GT agenr F N |

A square sheet of paperjs folded in half, then folded again, and a small circle is cut from the folded
corner. When the paper is unfolded, how many circles will appear?

maﬁrwa‘m‘{&hraﬁ‘rmmﬁmmt.ﬁw#ﬁzﬂmm%.amgggvaﬂ##
wF BT 9 F1e B> AT ¥ Siw wwrer w @rer smeen, at e gq Rag &
(a) 1 (b) 3 (c) 4 (d) 2

3.  Find the missing term 300, 296, 287, 271,? 210
T F & oo = A A 300, 296, 287, 271, 7, 210

(a) 250 (b) 246 (c) 244 (d) 248

35. The compound interest on a cértain sum for 2 years at 10% per annum is Rs, 525.The simple interest
on the same sum for double the time at half the rate is Rs.

BT ofr a3 2 af $r yaf F [ 10% wid af @ ax & 525 T THGEY S ¢l 3T

ﬁﬂuﬁr&ﬁmﬁamaﬁpmﬂvﬁummaﬁmﬁr T gl
(a) 300 (b) 400 (c) 800 (d) 600

36. hﬂnﬁaﬁwmwﬂdmﬂﬁaaﬂ-ﬁm%m@m"ﬂ_
(a) e (b) 3BT (c) AHT (d) o

37.  Which one of the following, Harappan sites was a specialised centre for making shell objects?
(a) Kotdiji (b) Lothal (c) Amri (d) Balakot
PrrataT % & #ie o1, §ee T 4w aEpi F PEior & e v R & o ?

(a) Frefzalr (b) wrerer (c) &Y CEIGIE

38,  20% of a number when subtracted from 108 gives the number itself. Find the 1}umber
IR fedy @Ear & 20% Y 108 # ¥ HeRr W a8 W& W gl &) 6eE A A

(a) 60 (by 70 (c) 80 (d) 90

7
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24]7 Gabge ey |}

What is the built-in permanent memory in a compuler called?
(a) RAM (b) ROM (c) CD-ROM (d) CPU
FLT H AaffRa @l S 7 =0 wwa 87
(a) W= (b) T (c) @17 (d) ¥y
is an open storehouse of e-content for students, leachers, teacher educators and parents
o, e, Res gfRem it st & e Sameh & o gar sEr g
(a) NRCER (b) NROER (c) NCF (d) NEP
What does CTRI+H do in MS-EXCEL?

(a) Opens the home tab (b) Deletes rows

(c) Highlights cells (d) Opens the replace dialog box

MS-EXCEL # CTRL+H &1 &%ar §7?

(a) 8% & e Fyam & (b) et @ Pear &

(c) T FTZABT Far ¥ (d) RS ST aiew 3i9e &I &

A document or image can be scanned in to digital form by using

(a) Scanner (b) Marker (c) Printer (d) Light pen

FRelT ZFdsr a1 Ra(image) 3 Rivew s7 & cany w7 AT o7 W

(a) T (b) AT () i (d) w13 9=

Ashtadhyayi' was written by

(a) Ved Vyas (b) Shukadeva (¢) Panini (d) Balmiki

Ty Zanr foar mar an

(a) dE=aTw (b) T (c) wforst (d) aefE

By which of the following methods of teaching curiosity can be developed and enriched in students?
(a) Analysis method (b) Heuristic method

(c) Problem solving method (d) Supervised study method
Mﬁﬁmﬁﬁaﬁ#ﬁmﬁﬁmmﬂﬁmmﬁwaﬁmmh
(a) fadaor fAfYr (b) 3Tl fafiy

(c) FAEaT AN i (d) v@dfEe rags faf

The area of an isosceles triangle is 12 cm?. If one of the equal sides is 5 cm long, the length of the base
incm is

UF FAefaary fefer &1 e 12 am® B e FAW a3t F ¥ UF 5 om WY &, A anuw A

wars d &l
(a) 9 (b) 6 (c) 4 (d) 5

The electronic configuration of elements P,QR,S and T are 23P 13 2R iéS 35T . The correct
statement about the compounds formed by these elements is
(a) I combines with R to form a ionic compound of the type PR»
(b) P combines with Q to form a covalent compound of the type PQ
(€) S combines with T to form a covalent compound of the type ST;
(d) R combines with T to form a ionic compound of the type RT;

8
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PQRS IR T awl &1 sdegiBr Ry BP19Q Hr 3LS BT g awt gaw AT
uﬁﬁﬂfmﬂﬂﬂmaﬂam%

(@ P. R & I Bwa pR, s v sty 2P s
{h)P.G*mmﬂmpqmﬂwmmmmﬁ
() s,r%mﬁmsnmmwmmmﬁmm#
(d}H,T*mﬁﬁmnT;mmwamﬁmmﬁmﬁm?

47. ONXCOis related to NOVEL in the same way as JMVYND is related to

ONXCO T FaU NOVEL 3 ¥ &1 4t € ¥ 3R JMVYND 1 3w # e
(a) INSURE (b) INTACT (c) INSULT (d) INTAKE

48. Which Country hosted the High-Level International Conference on Glaciers’ Preservation (ICGP 2025)
in May 2025?
(a) Uzbekistan (b) Turkmenistan ~ (c) Kazakhstan (d) Tajikistan
7S 2025 # f&w Ao & 32w w1 W AR & TWIOr W AT wEAET (ICGP 2025) #r
Asar=n $Hr?
(a) 3RfFE=  (b) ThAfEET (¢) ForrEEaT= (d) e

. FiaET 7 § e a3 st Ry |

(a) & aTCTF FY ST | (b) ¥ RETETE |
(c) T 9 FAWAT ¥ | (d) Feger ahvarer Y FaTTRTE |

0. Which of the following is a kharif crop and accounts for about half of the major oilseeds produced in

India

(a) Mustard (b) Groundnut (c) Flex seeds (d) Soybean

iR & & Fla @ oF @liv waw ¥ I e F senla ww faee & wmer s R ¥
(a) st (b) FHITely (c) wow i (d) wrarEe

51.  Ata party, the number of girls is half the number of boys. After an hour, five boys leave the party and
three girls join the party and the number of boys and girls are now equal. How many people were
present at the party an hour before?

UF gt 3 wsfral @ dEar aswl fr e @ Il §1 e 6T ae, g 95 ol ol 4 ¥ i
mmm#eﬁﬂam%mﬁ#mmmﬁwﬁaﬁmmmagﬁ
¢l v g gger arEf & R der Aisg 27

(a) 22 (b) 8 (c) 24 (d) 16
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56.

59.

247 GGEI)IL(Z;NIe Play .

. g 3 = e febl

n?ufé'aaﬂaﬁ.'ﬂﬂﬂ??ﬁmﬁ“@ Tﬂ_ mﬂfg-gm‘hﬁ_ el H'rﬁhﬁgﬂﬂ L o7 g B 'Fﬂ'|
iH 73 Tonir2, fi! § oo 3 ura et A 33 nrer o fem 7t Fed < fan fimr2 3 s e
w3 3 4R 1 13 e i A fa fed e @ 28 3 93 Y 3 00 A 3 T 7 7 A 13 g
MRHE I3 90 e yRas wid duz 2 6 H)

feast ragt 9 3 ¥R 7 o wge 3

(YIRIAWRA () feast I & (o) 3T H (d) ftmia ga2
feg o ffd A nga D,

() & o gd (c) §urdl (d) 53

33 e BY ¥a 2 3 9 fared] fam fimre 58 19 98 37

(a) TE3 ) few (¢) Hdlw (d) A
HWM%M%WEW

(a) famigi ) H3 (T4 )3

Who painted ' Declaration of the Rights of Man and Citizen’?
(a) Roget de L'Isle (b) Napoleon (c) Le Barbier (d) Robespierre
fr=ifaf@a % ¥ 'Declaration of the Rights of Man and Citizen' &1 7 frwsr @=mamr?

(a) Wi 2 v (b) AT (c) & afdmx (d) MARaTY

What should be multiplied to (2x* + 3x - 4) to getdx! -9 + 24x - 167
Axt-9x% 4 24x - 16 UTT FT & AT (22 + 3x - 4) ¥ @r aen T e TR
(@) 2x? + 3x + 4 (b) 2x% - 3x + 4 (€) 2% -3x -4 (d) 22 + 24x - 16

Three of the following four letter-clusters are alike in a certain way and one is different. Pick the odd
one out,

mmwm-m##mwmm#mﬁmmﬁmmmm
¥ faus &1 qa1 M=

(a) MOQS (b) CFIL (c) GHIJ (d) PSUX
Carbon-Dating system was developed by

(a) Hegel (b) Herodotus (c) V. A. Smith (d) Willard F. Libby
Frd=T-3faT worey ZanT fawtla #r ard oy

(a) &= (b) &tEew (c) 1. ©. femr (d) aeTs v Ry

The income of Rahul, Saurav and Sachin are in the ratio of 4:5:6 and their spendings are in the ratio

6:7:8 respectively. If Rahul saves one fourth of his income, then the savings of Rahul , Saurav and
Sachin are in the ratio

tlga,a‘haaﬂwuﬁmﬁm4:5-,5kwﬁ%mmmﬂa@mmnm;smww

m:ﬂmﬂwn‘lméaﬂamﬁ.muga.zﬁwsﬁtnﬁﬂiﬁrameﬁsmmaqm%
(a) 5:6:9 (b) 5:9:6 (c) 2:3:4 (cl) 9:5:6

10
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180, Which of th rt"-‘-' find the sum of a1l the prime numbers between 10 and 40. He found the sum
@520 X Ol the u.ﬂ]mving slatements is true?
(a) He missed one Prime A
(b) He added one ¢ between 20 and 30

: Xtra prime number between 10 and 20
(c) He mis ONE prime number between 10 and 20
(d) None of the given Options are correct

WW? m#m*m‘ﬁ?mﬂanmmaﬁmuWErmm##ﬁmmmrm‘:ra:‘r
= mmw“m?mﬁmﬁﬁaﬂ##aﬁa—mmmm
{a}mznﬁaua;mw_,‘ .
{b}ma\m#m*mmﬂﬁﬁmsmnstr#Wﬁmﬁm

{c}mm#m%ﬂvﬁmmm#ww
(@) R T R 4 % 8 o iy gy 3

5WAY{%M PRABHA is 3 group of DTH channels devoted to telecasting of high-quality
educational programmes on 24X7 basis

T SITT Fowt o 24X7 IMUR W T IOTAAT arer A FrEHT
1 TERT T & A gt

(a) 40 (b) 25 (c) 35 (d) 30

Which of the following is India's first all weather Beyond-Visual-Range Air-to-Air Missile,
successfully developed by DRDO?

(a) Akash (b) Astra (c) Agni (d) Prahaar

In a GUl-based rating system, the primary role of the GUI is to:
(a) Connect the database with the server

(b) Store rating data permanently

(c) Provide an interactive medium for users to input ratings
(d) Perform backend calculations of avera ges

GUI-3mfe et Rresr &, GuIHr sl sfaeT == &

(a) 2T H WEX ¥ FoAwE FAT

(b) T 2T Y Erh ¥ ¥ W FE=
{c}mﬁmwm#ﬁvwgﬁﬁtﬁmwm
(d) 3twe v dwvz o TR

ﬁmﬁfaﬁﬂ'#aﬂm T &1 997 HforT -

(a) SaER (b) Tty (c) T (d) TRz
T El HZ 3 2 feardl fam § Wfenn Aiwr

(a) ¥y (b) Tal ()= (d) FEe

What will be the remainder when (9% +1)is divided by §
MR (95 + 1) 8 & Fsniara R SC A AT AT gy

(8) 3 (b) 7 (c) O (d) 2

11
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wpect Lo air, and medium Y hos a refractive

68.  1f medium X has a refractive index of 3/2 with ﬂx of medium X wilh respect to medium Y?

2/3 with respect Lo air, what is the refractive inde . » ) 4iza
afe A -\'Iﬂﬂ Jiéﬂ*ﬁﬂ?wm*ﬁ“ﬂ 32, I FANET Y T IR IR EaT & T 3 5
a1 RIA?

%.HTMWXﬂm%Y*ﬁUﬁiW;E‘I. ' (d)2.25
(a) 0.44 ®)1.25 ©!

index of

69.  Which characteristics would be considered to determine the classification of this new plant species

based on modem classification criteria? bediiiog
X. The presence or absence of 5pecinIised t't:nﬁculal_‘ ll:l;

Y. The number of cotyledons (seed leaves) in the see

Z. The plant's reproductive strategy /
@YandZonly  (b)X only (€)X, Yand Z (d) X and Y only

7§ WIew wonfat & aeftaor v fir w0 & AT 3w wieer Avds & R R
W AR & smeem

X. RN dagsd saa & soRu@ ar Rt

Y. @5 & fawst (dor o3) f dEw

Z. 9 6y gyorenr Ay

(@) Faa Y 3R 2 (b) ¥Faw X (€) X, Y 3R Z (d) Faa X 3w Y
70.  She was so tired that she could hardly keep her eyes ;
(a) close (b) open (c) opens (d) opened

71. The Chapchar Kut is a traditional festival of north-eastern state of India that is celebrated during the
month of spring with great fervour and gaiety. In which state is it celebrated?
(a) Nagaland (b) Tripura (c) Assam (d) Mizoram

TR FT ARA & BhE sae-qdf o7 F 0 IRINE R § A W F 7 F 9 @b o
3oATE & W FJART SEr 27
(a) s (b) Pz (c) 3 (d) Heirs

72.  The length, breadth and height of a room are 5m 25cm, 3m 25cm and 1m 25cm respectively. Find the
length of the longest rod which can measure the three dimensions of the room exactly.

U FAY I @418, iz N Fa$ FAW 5m 25cm, 3m 25cm AW 1m 25em §| Gy & O3 (rod)
T | A FST S FAT F DA IAH B TEF T § A9 T
(a) 50 cm (b) 25 em (c) 75 em (d)1m

73.  Which Rock Edict of Ashoka provides a description of the horrors of Kalinga war?

(a) 13th Rock Edict (b) Kalinga Edict at Dhauli

(c) 10th Rock Edict (d) The Edict at jaugadha
RNF & fhw Raea & S geu 1 sagar & Rawer Baar 32
(a) 134T R (b) eitehr # =feler Riaa
(c) 10aT R (d) Starer Rema@

74. 3 & 79 I ufast 7En Y33/ Ul B9 <gfany Are o@ HEE 9E ;
(a) &7 /781 (b) TR () A8 & (d) uBE/u&sl
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. fran Y TRy we g2

79- v
WE ) (c) Wiz @2
n The femions. Bigre of o dancing girl found in the excavation of Mohenjodaro was made up of
(a) Terracotta (b) Red Limestone i
Nl ' {c) Steatite (d) Bronze
ﬁ%#mmﬁmmmﬁmm_amma
B O TR () e (@) w

= Select the combination of lett : . . o
il complete the series. ch_dif_r_il:;m;:t:‘:; zequentml]y placed in the gaps of the given letter series

mammmﬁﬁmwmmﬂsMﬁmW#wm“ f
F G cb_db_cba_bc_bad_¢

(a) cabdc (b) acdeb (c) acbed (d) debeb

78. How can you duPﬁcate?. slide in MS PowerPoint using a keyboard shortcut?
s 1 FH WEFT FA @R MS PowerPoint # F53 &1 3eThe @ T 87
(a) Ctrl+ E L) Chl+ G (c) Cerl +Y (d)Ctl+D

7. Arrange the following events of French Revolution chronologically.
(i) Overthrow of the Jacobin republic
(ii) The king is beheaded
(iii) Directory rules France
(iv) France becomes a republic

FEE Fifed HT FEaEd geasi H Fesd & HqER SqarRyd Hiw|

(i) ST TORTST F 3WE G

(ii) T F1 AT Fe fRwr S g

(iii) FERET wiw & A a9 §

(iv) S U 0T a1 14T

(@) (v), (i), (), (i) (b) (@), (i), (id), (iv) (<) (i), (i), (iii), (i) (d) (ii), (iv), (i) , (iii)

8. Two solutions are separated by a semi-permeable membrane. Solution A has a higher concentration
of solute compared to Solution B. Predict the movement of water molecules and the resulting effect

on the cells in Solution B.

(a) The solute will move from B to A, causing cells in B to shrink.
(b) Solute will move from A to B, causing cells in B to swell.

(¢) Water will move from A to B, causing cells in B to swell.

(d) Water will move from B to A, causing cells in B to shrink.

2 Pragst &1 v HO-qEET Sedl G@RT T BT ST ) @A T H A d B e
% fdw i 3oT wigar &1 TR & Rl & AR AR FEE & & ARl waRemer s

1 sifgegamfr w7

(8) Ry & ¥ v r 307 swam, FrEd & F ARG Mgz s
(b) Ry w & dy & 3ivc seaw, a9 # ARNEC e e
(0) U @ I & T war e, e & F ARET qor e
[d}ma#v#mm,Wa‘r#ﬂﬁﬁﬂﬁﬁrgrsmﬁuﬁ|
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»

i et s i » oof Tnddia does not have?
81, Which of these is a term that preamble of : :] e domt (d) Liberty

{a) Secular (1%} Sucialist

PrfRfa 2 & ate o omer 1 e A AFART @ 87 :
(a) wAfRRdey (b) wFTaTEr (c) T (d) Fea

Ez. Hh"}" Vi.s-iﬁ‘“ [n'r T“diﬂ“ was a [ﬂ“‘nus 5"_1“_‘1:_':1 l.il.‘“trt;'tl‘d b}' '“t t‘hﬂ' Il'tdiﬂt'l lnﬁtitul’u nf
Twhunhm}-* Hyderabad, :

(a) Dr. A.P] Abdul Kalam (b) Mahatma '[..-;ﬂl'lff.“‘ll

(<) Jawaharlal Nehru (d) Atal Bihari Vajpayee

SREY ST "mrr R wie ERar aRdT W TR, e Zamy

= s | _
(@) STEdS sreew wamw (b) FETCHT IR
(c) STaTeaTT Agw (d) 3ree ey amorddy

83.  "Float like a butterfly, sting like a bee. The hands can't hit what the E‘_;"E‘-i can't see.” To which of the
following sportspersons does this memorable quole attributed to?
(a) Muhammad Ali (b) Floyd Mayweather Jr
(c) Sugar Ray Robinson (d) Mike Tyson
Wﬁmﬁ,w&mﬁﬂmlmmmmnmaﬁmmm

mmﬁnﬁmm-wmmmhﬁmﬁ:ﬁaﬁ#ﬁm@a@ﬁﬁmm

e7
(a) HAe=HE el (b) FEE Adew i
() PR Y Ia=w=r (d) AT TIEwT

84 In the questions below there are three statements followed by four conclusions numbered 1, 11, Il and
IV. You have to take the three given statements to be true even if they seem to be at variance with
commonly known facts. Read all the conclusions and then decide which of the given conclusions
logically follow(s) from the given statements disregarding commonly known facts.

Statements:

(i) Some cars are four wheelers

(ii) All four wheelers are vehicles
(iii) Some vehicles are SUVs
Conclusions:

I. Some SUVs are four wheelers

II. Some vehicles are four wheelers
I11. Some vehicles are cars

IV. Some SUVs are cars
(a) Only III follows (b) Either IIl or IV follows

(c) All follow (d) Only 11 & 111 follow

mﬁhmma‘i#aﬂam#ﬁaﬂ:mmnml.ll.lllaﬁtwﬁ‘fm%:rmﬁlm
few a1e e el Y W AT g, s & @ 3m Al W o aet F Bt gl i Bt
F 96 IR T 7w @ Re v frengt F & &l @ amwdk @ a aedt Y sradeen 5@

U fw arv @yt @ e w7 ¥ e awar B
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FUA.
Il}TUmﬁmqﬁm‘imamg

(i) T IR R T gry ¥
[iii)g‘_ﬂ:mw%\m%

frset:

L T T AR R ang oy @
1. FC AEH IR IR g gy &
Il F& A F A §

V. FO THGE WP ¥

[a}mlllaﬁamm%

b) ar &t [l AT IV IFHIOT FIAT ©
(c) T eTHIT & ®) 3

(d) Faer 11 3 1| ITETOT L ©

Which one of the following options h i 3 ) ) .
number of mirror lines (lines ufﬁl,mm eil;;?e correct sequence of objects arranged in the increasing

(a) Square, Equilateral triangle, circle (b) Equi . ,
. : & quilateral triangle, circle, square
(¢) Circle, square, Equilateral triangle (d) Equilateral triangle, square, circle
prafafaa T@Fe F ¥ e ofor Tt (Feesar @) & ah dEm & cgateyd aEgl
o1 WO HA &A1 T4 87

(6) T, TG PR, (b) g P, 3, T
(c) I, &, FHATg PR (d) wevarg Teg, 1, g

g6. Ina physics lab, a student has a cart with an unknown mass and a sensor that can measure not only the
force applied but also the friction acting on the cart. The student applics a constant force of 30N to the cart
and measures an acceleration of 3 m/s%. The sensor also detects a frictional force of 3N acting in the
opposite direction of the applied force. Calculate the mass of the cart in Kg using this data.

aﬂﬁrﬁmmﬁ.ﬁm#wwmmmﬁmﬁmwﬂm?mam
mmaﬁﬂmm%aﬁzmﬁmmmﬁuﬁwaﬁaﬂmmmm:naqrsnma:r
ﬁimaﬁm%aﬂiamfstmmmalﬁmmmﬁmm“ﬂmmmﬁ 5N
ﬁmmmmmmﬁlsﬂmammmaamammﬁm

(a) 5 (b) 50 (c) 833 (d) 1166
87. In April, 2020 was launched as a national content contribution program that leverages the
DIKSHA platform _
(a) VidyaDaan (b) Swayam Prabha  (c) eVidya (d) e-Pathshala
e, 2020 aﬂﬁwﬂmmmﬁwﬁaﬁﬁmmmm
DIKSHA c3ewi &7 @y 3orl &l
(a) ReamEE (b) T T (c) St (d) &-SmeRmer

B8. Two dice are thrown simultaneously. What is the probability that the sum of the numbers appearing

ice i o3t prime number?
gﬁdglﬁvﬁﬁgﬁﬁnmmmnﬁwwam:ﬁrmmmﬂ

wieRaT @ g
(@)1/18 (b) 1/6 () 5/12 (d) 1/36
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89.

91.

92

94.

247 GC;iEI)Igg);hie Play

Two objects, A and B are thrown upwards simultaneously with the same speed. The mass of A is
greater than mass of B. Suppose the air exerls a conslant and equal force of resistance in the bvo
bodies, then

(a) None of the given oplions are correct (b) B will go higher than A

(¢) The two bodies will reach the same height. (d) A will go higher than D

a awgy, A 3R B, I vF AW FW B IR T A § A W gomaEn B F ogeuAe ¥y

¢ = AET & g 2 awgat ) Rmh ek e ey aw e E @

(a) Rr aiv Rereat A F a5 o ady s & (b) B, A ¥ Far seam
{c}a’lﬁaﬁﬁ'mmﬁw@vm (d) A, B & Far srean
What is the name of Megasthene’s book?

(a) Indica (b) Purana (c) Arthashastra (d) Rigveda

AR T G S A T 87

(a) 3T (b) T CER =] (d) Fdg

Identify the correctly spelled word:
(a) Accomodate (b) Accommodate  (c) Acommodate (d) Acomodate

Arrange the following events of Russian revolution in chronological order
(i) Incident of Bloody Sunday
(ii) Formation of the Russian social Democratic workers party.
(iii) Start of First World War
(iv) The fall of monarchy
w1 Fifea &1 BT oot & FaFa & HTAR Tqafeyd HY

(i) = WaAR Fir gean

(i) T FATSF daie SAEaARt i 9t F1 1857 T

(iii) s faRE gEy 1 I F=T

(iv) T=TRATET T 9T g

(a) (i), (i), (iii), (iv) (b) (ii), (iv), (iii), (i) () (i), (iii), (iv), (ii) (d) (i), (i), (iv), (iii)

The length and breadth of a rectangle are changed by +20% and -50%. What is the percentage change
in the area of rectangle?

U AT &1 darg AR d9ieg & +20% AR -50% TEar T & I & S9%d # waed

qREde 1 gm?
(a) + 40 (b) -30 (c) +30 (d) -40

Answer Q94 to Q97 after reading the para given below
India’s climate is largely influenced by the monsoon winds. The southwest monsoon, which arrives

around June, brings heavy rainfall to most parts of the country. Farmers eagerly await the rains, as
nearly 60% of Indian agriculture is rain-fed. However, the monsoon is also unpredictable, sometimes
causing floods or droughts. The northeast monsoon, although less intense, affects the south-eastern
parts of the country, particularly Tamil Nadu. The irregularity of the monsoon poses challenges to

planners and farmers alike.

Which Indian state is most affected by the northeast monsoon?
(a) Kerala (b) Tamil Nadu (c) Punjab (d) Rajasthan
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1 it ' N
what 15 1:"“ 1‘ mr:‘:ﬁui"““““““‘ of the southsvest monsoon in India? sl e
& [ cowls dt Summer heay (1) Tt brings essential rainfall for agriculture

(" 45 Lthe forei Sy >
(o (1 affects 5N trade cyelp (d) Tt helps in winter tourism

o closes ntunning of the wong irregularity” in the passage is? .
% Monoton) {b}Fm‘[uEncy (c) Unpredictability (d) Simplicity

which of the following is a ¢hat
. g Dﬂ_;rpnﬂuﬂiﬁl'l ol l:mps

© pelay in school sessions
S

lenge caused by the monsoon as mentioned?
(b) Floods and droughts
(d) Power shortages

-

sssume that you have full names of
Jets you split the full names intg columns first name and last names.
nﬁéﬂ:mwMS'EXCﬂlshmtﬂ?mm‘mﬂﬂmﬂﬁﬁr‘{ﬂm?l ag @i AT fEAEeT
ijmeHTtm;kqﬁﬂmiﬂ?afﬁnamﬁﬁhﬂﬁﬁﬂﬁﬂmmﬁl

(a) Consolidate (b) Text to Columns (c) Ungroup (d) Columns to Text

the employees in one column of MS-Excel sheet. Which option

The sum of digits of a twodig
54, Find the changed number,

& 3@ B TG T IH T T 10 ¥ afy it @ soer Rar ST L, @ GEAT 54 FA @7 AT
3| qREfda F&T T e

(a) 37 (b) 46 (919 (d) 28

it number is 10. When the digits are reversed, the number decreases by

1. When the upper half of a converging lens is covered by an opaque material , then
(a) Complete image will disappear (b) Intensity of the image will increase
(c) Intensity of the image will decrease  (d) half the image will disappear

Fa AR oA F SIQ I 07 Rl arareei gent ¥ @@ @ & ar
(6) T wfaifde amge g T (b) wfafde Hr Sear ag oy &
(c) ufafda &1 AT FA QIR E (d) Imer wiART T @ owaT &

0. Name the Chief of Defence Staff of India who represented the country at the 2025 Shangri-La
Dialogue in Singapore.

(a) General Anil Chauhan (b) General Upendra Dwivedi
(c) Admiral Dinesh Kumar (d) Air Marshal AmarPreet Singh

W F A i By w7 oA A Reel R 2025 siwhear ant # fer @
Tfafe )

(@) e wferer ol (b) TR 3% faady

(©) wsfme Rever gow (d) T At s R

What is the minimum and maximum value in octal number system?
TTMIRY 3ar qorey 3F s AR HRFAA AT FwT §2
@)1t0g (b)0to? (c)2t09 (d)0to8
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103, Inacerlain code NO is writlen as 210 and S0 is written as 285 then AN will be coded as
e faE @ & NO @ 210 & =9 & far aar § 3w so =) 285 ¥ v A For I koA

ANl Tt Frm v w2e B s
(a) 126 {b) 258 {c) 185 (d) 512

104. Choose the word that is closest in meaning to "fragile":
(a) Heavy () Light {e) Draken {cl) Delicate

105. Which of the lollowing sets of numbers is in ascend ing order?
mﬂ#wwmmwwmmﬂh
(a) 1113, 911, 1315 (b) 1315, 911, 1113
(c) 9111, 1113, 1315 (d) 13015, 11413, 11

106. Which of the following best describes constructivist pedagogy?
{7) Passive listening to leciures
{b) Strict discipline and teacher-centerad control
(<) Learning through exploration and experience
(d) Rote memorization of lactks

FrRflE & & 3 a1 roemd Remre & w8 e e F@ 57
{a}ﬂmﬁﬁwﬁrﬁrﬁﬂrcrmﬂ'gaﬂr

(b) =eit Jeres i Rers-Sie g

(c) oy 3T Jreperr & Fweme 3 A

(d) et &t e

107. In the question given below which one of the answer figures should come after the prablem liguires
given , if the sequence were continued
i fow e wea e AT e st & A wiE w3 s e wike, afy e @

it T Al
YA
@Y e L © "

108, Gaurav walks 20 m towards North. He then tums left and walks 40 m. He again tums left and walks
20 m. Further, he moves 20 m after turning to the right. How [ar is he from his original position?

M T 1 3T 20 m gwar B ow P ad HEwT 40 moowan Bl oF e aw sgar § iy
20 m. weel B 6T, 9% @ AT A & @ 20 m ogwen §1 9@ ae AE Trufa @ feee gy

¥
(@) 50m {b) 40m (c) 70m (d) 60m

)
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(d) 80
(a) 360 {b) 45 (c) 180
u al e eye of an obspp,

M. A spherical balloon of radius ¢ subtends an angle 0 While the ang, ot

iﬁ;” ol Hhue centne o Uhe balloomn,

clevalion of its centre is b, Find the he & 9T OF T o 3
TR e —— uamﬂamma-,mm

W & ST For [ b ot & d @ Farf T A (d
(@ rsecaslsing [)reosa/2sinp () rsina/Zoosp ) rcosec /2, gin p

15, A, Band Can three collinear puints, The coordinales of A and Bare (3, 4) ang 7mn respectively gng
AC = 10 units. Find the coordinates of C. . :
A, amcmﬁmﬁgﬁmaﬂwtmﬁmn (. 4) 3ty 7, ﬂhﬂmc-mm
¢l & C ¥ P¥wiw mw w1
{a) (11, 10) {b) (10, 11) {c) (18, 17} {d) (17, 18

116. The teacher decides “what™ and "how much” should be taught 10 a studens, Under which principle of
education, does this action fall?

(a) The principle of planning {b] The principle of selection

(c) The principle of interest (d) The principle of definite objective

R T a3 & R o or @ wEr A BT RERT smn gk TE BT e & Ry
Rigwia ¥ simta amr b

(a) Foxiterer 1 fguia (£) w2 7 Rigufer
“{c) T = Rauis (d) FRIE ST = Ty

117, The surface areas of two spheres are in the ratio of 1: 4. Find the ratio of their volumes
& T & by e w14 b MG F AT W I T L
{a)2:1 By1:8 (e)1:2 (dyi:4

118 According to the Resolution of Monetary Policy Committee (MPC) of the RBI released on 6th Jure
2025, the policy repo rate has been reduced U |
mﬂﬁmmﬁmm{wnsaﬁms w1 AW R ST deer & dnan,
I YT B wew &% R

(a) 5.25% (b} 5.75% {c) 5.50% (d) 5.00%

113. A sector of a circle of radius 6 cm has an angle of 120°, It is rolled up so that the two bounding radil
are joined together (o form a cone, Find the total surface ares of the cone and the volume of the con.

E##rﬁmrmﬂqartwﬂmwm 120° #1 20 gw wer wier aan & B et i
ﬁmﬁmmww@mm@mfﬁmmmmmm'

(a) 32m cow?, (3292 1)/3 em? {b) 16 w em?, (162 1) /3 eo®

() 8 mem?, (8 x ¥2)/3 am? (d) 24 w em?, (2432 7)/3 om?

(a) 1962 (b) 1973 (c) 1989 (ci) 1956


https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap

Adda2i?

The Year 2027 has bows does
o Inlenmatioen] Tlmrurdh?::ﬁ:?gﬂm i by the United Mation

o) Intermational Yearp g,
(c) International Year ::rctl:;i;::ll::.and Resilient Tourism

() Intermational Year uf g 1y
o omen Farmer
) Tﬁm“mz?“&_—_ & &9 & afaq g mw &

L8

(d) R R W Seiepi g %

" 3.331 E%a::!:ﬁ:_ I:.,aﬁ lw.“ disgrused with a connectivee tissue disorder that affects collagen fibres.
is most likely h.rbt':« Provides strenpih and support in various tissues, which type of connective tesue
- fpdin ot = COmpromised, |eading to joint instability and frequent infuries?
{"1 Fiui:i.ctm:::ilw ‘_'5"_'“‘-'- which is mainly involved in eushioning and supparting argans
Erﬂ:ﬁﬁnﬁ Ve bssue, which includes blood and lymph is responsible for transpart and immune

(c) Dense connective tissue, which provides firm connections in tendons and lig :
i 3 gaments,
{d) Supportive connective tissue, which includes cartilage and bone, provides structural support.
o o T F WA 5 R o R B S S o @ i w0

7 dad B¢ F Feew Ry sawt # aw ol 90 WO AT &, FRE TER & FOeh a6
#mﬁ#mmmmmwmmmﬁmﬁ

(o) &rer FA T, S qGT w7 F sfA A g I TN G A W S E

(b} & T T, Bt it wede ot gafee AT et wEi & fre BERER
(¢) = WA S, J Fvssh v wrgEdt # g FRE S

(d) HEM HErt Faw, et aofer s ef wfaw 8 doeions s wew e g

111. NE[ 2020 proposes which of the following changes in school education structure?
Terddt 2020 Frelr Fen Ewen A R A § B saeE @ s S g7

(a) S+3+3+4 (b) 8+4 (e) 1042 (d) B+6

112 The Rigvedic God Varunawas

{a) Harbinger of Peace (b} Guardian of the Cosmic Order
{¢) Protector of cattle {d} God of Prosperity

FARE arAl 2

{a) &ifd & gy {b) FEAETT SuTENT % W

(c) swafamt & Ter(d) wE & daAr

113, In the ground, soldiers are armanged in rows and columns, The number of soldiers in each column is
twice the number of soldiers in each row. If the total number of soldiers is 16M10, then find the

numiber of soldiers in each mow:

ﬂmﬁ,mmﬁﬁaﬂaﬂ:ﬁﬁﬁﬁfﬂrmmmmﬂ#ﬁmsﬁm
mﬁﬁﬂﬁ#ﬁﬂﬁﬂﬁﬁﬁﬂ'ﬂlﬁlhﬂﬂﬁﬂﬁﬁﬁmwzmkH“Tﬂﬁﬁ'iﬁfl#
At fr g i S

k]
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. I er I“* fi;l;‘f;:lt‘“ N a picnic, I is the son of Qbut Q is not the father of P, R is the son of 5, who is the
brothe rlt A% 15 the wife of S, How s I’ related to 57

(c) Father
P. Q R S, T & ay oy P, Q& g7 & Afkwr Q, P & Rar 7@ 1 R, S & @& P
wHEE T, S OOk §) p oy 5 3 e i 2

(a) A (b) 3l (c) R (d) am&

1

122. Different hybridisation experime

nis are ied out to i ve varieties. swperiment was
done between a potato plany carried oul to improve plant varieties. An expe ‘

type of hybridisation is dnnein“d a brinjal plant for producing new variety.Which of the following

specili N the given experiment?
(a) Intraspecific (b) Intergeneric (c) Interspecific (d) Intervarietal

I L e e S e T
F UM N AR F & oy & A o s R amn ResRiae @ R s @
HHEOT T TR T I 89

(a) FTERTF (b)) Sexatafs (c) Sxrifdfrs  (d) Sedftvew

123, Walking at 3/4 of his normal speed, a man takes 2.5 hours more than the normal time. Find the
normal time in hrs.

ua:a%mﬁMWﬂﬁrﬂ:af4ﬂﬁrwmﬁ§mmﬁm#2.5ﬁmaﬁh
AT F WA AT G F g Q)
(a) 10 (b)7.5 (c) 8 (d)6

124, is the first language to be declared as Indian classical language. This language has one

of the oldest known literary traditions and was also listed in the eighth schedule of the Indian
constitution.

(a) Sanskrit (b) Telugu (c) Tamil (d) Kannada

HRA $1 el smar 9T @ arel agel s T HTAT FEd QAT AT
ammﬁﬁ#w%mwmmﬁmwﬁmwmmmt
(8) T¥Fe (b) A (c) afde (d) FT5

125. While teaching a lesson, the teacher takes the help of the "Comparative method". With this method,
students develop the quality of:
(a) Experimentation (b) learning (c) memorization (d) thinking

mmﬁmgu,mﬂa'wmﬁ'ﬂmﬂmmmwﬁ@mmm
Torear fawfaa & &
(a) T (b) Hra (c) ERor (d) s

126.  Fahien and Huen-Tsang visited the kingdom of
(a) Harsha and Chandragupta Vikramaditya respectively
(b) Chandragupta Vikramaditya and Harsha respectively
(c) Chandragupta Maurya and Harsha respectively
(d) Chandragupta Vikramaditya and Krishnadeva respectively

wifgaer st dermmr o T A el R

(@) &% 3t dgepeer fawwieear Faver: (b) weRTT TasrAifeer aftt & @

() e w3t g wAE: (d) T e it fFovka @
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‘[Tr;{ Enhance understanding and inleresy

127. The use of teaching aids in the classom I
(d) Keep students busy

131.

FeE T &l

{(a) Make teaching faster
{c) Reduce teacher's workload r 4t
FoT A Reror weras @y w1 39ART &

(@) Reror @ dor @t (b) T I T TGIC T

(c) Frw & Frdong ) 97 &0t A

g sk i Ao H00,000; Assuming the atom anq

The ratio of the radii of the hydrogen atom and o b
the nucleus to be sph;ﬁmh \'-‘:F'rﬂlf will be the ratio of their sizes?
BTSN SRR Sy 3wk aAfeve dr Rt 1 AT FIET 100,000 S 3T i 5
MNER HAS g, 3o JHTT AT T T e
(2) 100000 (b) 10 (c) 10" (d) 100
el technology with effect from June 7

23 A
S TR Aot A 7 o 2023 W W TS & A 3rads Ry oy &

(b) MPEG5 (c) MPEG4 (d) MPEG3

(a) MPEG2

A positive leaming environment includes all of the following EXCEPT

(a) Emotional safety (b) Supportive teacher behaviour
(d) Respectful interactions

(c) Physical punishment
mmwwmmkmﬂaﬁanﬁwﬁmmgm
(2) #mE=TTeH® FRETI(D) WEAH HEATH qagR

(d) FFATAAA® AT

(c) wifts g
One nibble is equal to how many bits?
o T e fiew & awrew gar &7
(a) 8 (b) 4 (c) 2 (d) 16
Choose the word that is closest in meaning to "elated":
(c) Confused (d) Tired

(a) Joyful (b) Angry

The Word Count command displays the number of words as well as the number of in the
(d) All given options are correct

current document.
(c) Characters
&1 T o weRla & gl

(a) Pa::agmphs (b) Lines
T FIBT FAIS TAA SEART et £ GEAr 3 WRr-an
(a) s (b) gt CELs (d) R 1w Wit RFeT w8 &
h'd'ohan starts from point A and walks 1 km towards south, tums right and walks 1 km. Then he turns
right again and walks 1 km. Now he is facing
(a) South-west  (b) East (c) North (d) West

mﬁ.mma EﬁﬂgﬁT?ﬁ1 km aear g1 B

Al g A & UF gt & 3T 1 km
ﬁﬁﬂ#mwﬁmikmmmmaﬁﬁmmﬂﬁﬁ?
(d) TR

(a) aor-aftas  (p) el () 5

22
—


https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap

Addai2i?

135. h:;lﬁlr?.::; Sagar Dam, is'huill across (he River
(s " ity A aMuna (c) Ganges (d) Chenab
AL 3 T Y 4T wemar T
(a) o (6) g (c) Fta (d) R
ither the teachey
136 Neither L nor the students ;
(a) has been (L) are {;;[;[;i::t' (d} is
MNational Curri 3
137. 1:;::.3:1:':1?: urnculum Framework (NCF) 2005 encourages which of the following approaches to
[ﬂ; g;’;g::‘;‘;jﬁtﬁi{mlewpsive evaluation (CCE) (b) Only end-of-year exams
(c 1plechoice tegg only (d) Punitive assessment for mistakes
TR TR R ( 2005 s & fw PRl & ¥ R gReor @
Mewried F &2

(a) I I RNF Aoy (CCpy (b) ¥ae ¢ ¥ 3 F wlhemy
(c) ¥ TR Ve (d) el & R G e

138, FER TR T ANEE - ym gy I,

(a) SET i AT o1 ®) W3 A
(o) 7S feg T (d) feB T

139. ;’;gﬂt is the name of the campaign launched by Prime Minister of India on World Environment Day

4

(a) Hariyali ~ (b) Ghar Ghar Vriksh (c) Ek Ped Maa ke Naam {d) Vriksh Ka Sanrakshan
AR & T HA Z@Rr Rred wafaror faw 2024 W died BT 70 1@ & anr o g
(a) sl (b) W & oy (c) v 45 A & A(d) ger & weror

140. A number is mistakenly divided by 5 instead of being multiplied by 5. What is the percentage error in
result?
UF BT H A A5 J 0 WA F aww 5 A Renfoa v R ow &) swd wRome &
LICHE I (e
(a) 75 (b) 96 (c) 50 (d) 25

W1, e & ol AT FATFRA L -
(a) Tt (b) F5a=A (GECNE (d) fagfoor

192 357 ydrgardy o ¥ |

143, Which tool in MS-Excel is used to calculate , summarize and analyse data to study pattem and trends
;:;::fé:;rt {b} Line Chart {L"] Mail Mﬁrg,ﬂ [d.] Pivat TﬂblE
THUH-TRAE F 2e7 i v, Wi R R @, S ot deet ol daw a sremww ey
Rw Ry zor v swaier AT ST &
(8) AR e (b) T AE (c) AW Aol (d) TEEE dare

] |
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s leacher ask the maxi
144, While teaching a lesson, in which slagt 5111;:}"]1,1111;1::1‘::'[(1@ stage g Aumber of questiong)
E:}} g:?‘,];?rm?[’tﬁfgu (d) Recapitulation stage
Vel m e
! ion Stag ﬁmam"ﬁaimﬂarﬁ?ﬁmawﬁm
feel TAOT d
(a) R w=or {h}qﬁmmmm{ﬂlw “‘I‘“’?ﬂﬂv‘mm

145. A piece of Paper is folded and cut as showh belmwﬂli{‘;;";“m“?mr after Unfolding
m#wgﬂﬁm‘rmﬂWSWmﬁa Imﬁm*aﬁﬂ?%m

s &am
------ i
<!
...... ? F .
0000 0000 00 00 0000]
(a) oQoo (b) oooo (c) uﬂﬂg (d) o%ogo
ooono opoono coo Oooo
0000 0000 0000 000
146. Which metric is commonly used in GUI-based rating systems to analyse overa]| isfacti
(a) Standard deviation only (b) Mode of the ratings user satisfaction?
(c) Mean rating score (d) Number of login attempts
Fo ST dafte @ Reaeer &@ & AT GUI -3muRa W R F amw o pg
AT &1 39A9T By Far 32 '
(a) Fae AF fAge (b) w1 & ThF
(c) e e =k (d) SR warat i Fr
147. A small text file created by a website that is stored in the user's computer temporarily for that session
is called
(a) Malware (b) bug (c) cookie (d) cache

Rl damee ZORT @ T UF DY IR Wiel ot 36 @9 & v swded ¥ o o
U ¥ F FaRe o g, 39 T ST &

(a) #wdaR (b) = (c) Fehr (d) R

148. The office of Lokpal and Lokayukta in India is based on which one of the following?
(a) Prosecutor General of Russia (b) Parliamentary Commissioner of UK
(c) Ombudsman in Scandinavia (d) Council of State in France
M # e AR S 1 Fiey Preefafa 3 ¥ R 3R 0 nRE 8
(a) = & 3fFdlsF Fager (b) e & wwdra g
(c) ¥h3afar & Svwurer (d) wiw # T aiwg

149. Which of the given interchanges in signs would make the expression correct? 434 - 990 15+ 100x5=0
(a) xand + _(b) -and x (c) = and + (d) +and- =0
A R T Rt w3 oftadr e & yfeafi @@ e e 434 - 990 + 15 + 100 X5
(@) x 3+  (p) - 3 x (¢) + 3R + (d) + I -

24


https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap

Addai247
o

_ The main aim of peda is to:
2 (a) Facilitate meanmgﬁ:ﬁg;:nt;‘
(c) Maintain classroom gjs cipline
RIS 1 75 Segy 4,
(c) TR IR FoATT gy

(b) Complete the syllabus

(b)ﬁﬁwq.:ﬂm
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(d) Prepare students for exams

(d) Bl 1 9deT F [w 3T ST

( & o
e
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